

Sečtēte $\sum_{n=1}^{\infty} \frac{(-1)^n n^2}{2^n n!}$

Poloēme $f(x) = \sum_{n=1}^{\infty} x^n \frac{n^2}{n!}$. \mathbb{R}

$$\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = \lim_{n \rightarrow \infty} \frac{(n+1)^2}{n^2} \cdot \frac{1}{n+1} = 0 \text{ i.e.}$$

\mathbb{R} de konverģija \mathbb{R} .

$$\text{Platí: } e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}$$

$$x e^x = \sum_{n=0}^{\infty} \frac{x^{n+1}}{(n+1)!} (n+1) = \sum_{n=1}^{\infty} \frac{x^n}{n!} n$$

$$x^2 e^x = \sum_{n=2}^{\infty} \frac{x^n n(n-1)}{n!} = \sum_{n=1}^{\infty} \frac{x^n n(n-1)}{n!}$$

vše $x \in \mathbb{R}$. (Poloměr konvergence je nekonečný)

$$f(x) = \sum_{n=1}^{\infty} \frac{x^n}{n!} n(n-1) + \sum_{n=1}^{\infty} \frac{x^n}{n!} \rightarrow 1$$

$$= xe^x + x^2 e^x.$$

$$\sum_{n=1}^{\infty} \frac{(-1)^n n^2}{n!} = f\left(-\frac{1}{2}\right) = -\frac{1}{4} e^{-\frac{1}{2}}.$$